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Thirty samples were collected; with variable sample sizes. A control chart for the fraction nonconforming is
to be established. The sum of nonconforming was 90 and the sum of the sample sizes = 180. Using the
average sample size, the 2-sigmo UCLis —==------,

11123

0.8082
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A control chart is constructed to monitor

total number of nonconformitie

unit of two units, The CL of the control chart

number of nonconformities when four units
control chart ----

s in a fixed sample size inspection
Was 4. Suppose that this chart will be used to monitor total
are collected in each sample

Then, the UCL of the modified

None

13
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The x-bar and R chart was used to monitor process. Twenty samples were collected e@ach of sample size =

8. The estimated process mean and standard deviation are 112 and 2, respectively. Specification on the

catical characteristic is USL= 119, target=111, LSL= 108 Then, the uppropriate capability index will ba ==----
Cpkm= 0.884427

Cpm= 0894427
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Twenty samples were selected randomly, each sample consists of four items. The sum of total
nonconformities = 80. Suppose that the inspection unit was delined as

four items. The UCL for appropriate
4-sigma contral chart for monitoring this inspection unit is --

18
10
None
12
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| Time

Consider the following information:
Individual chart: Center line = 600
MR-chart: Center line = 4

The UCL of Individual control chart will bg ====-=--

14.744
58836
6i0.64
13.068

MNone
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A manufacturing process was controlled with a fraction nonconforming control chart; CL = 0. The
procedure called for taking daily samples of 100 items. Then, the 4=sigma UCL of the corr

esponding and
equivalent control chart for monitoring the number nonc

onforming is ==--
D, 0:22

01
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e collected (n =4). Given (standord values

e unknown ):
x-bar: cL=100

||Rc:hur1-.CI.=B

|Assurme d;=2, The Probabiiity of detecting th

& shill by tha first saynple when process mean
| shifts to 102 and the standard deviation
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The x-bar and S charts (standard values are known) cre used to monitor weight (Specifications 100+8)
. d Twenty samples were collected (n = 4). Given:

B out of x=bar: CL=101
schartCL=9
stion The values of process standard deviation and m

ean ara

mean= 100, standard deviation = 9788

mean= 100, standard deviatior
None
ean= 101, standar
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A control chart is to established to monitor average nonconf

ormities per unit. Twenty samples are collected
each of nine units. The

total of the number of nonconfarmities is 180 Calculate the UCL of this control chart.
¢ chart, UCL = 30.73

None

Uchart,UCL = 2

¢ chart, UCL =

(5]

c chart, UCL = 31
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Time left 0:46:59
A control chart for the fraction nonconforming is to be established using a center line of 0.10 and 2-sigma
control imits. What sample size is required if \

we wish to detect a shift in the process fraction nonconforming
to 0.30 with probability 0.50?
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nonconformitf time left 0:59:32

established incomurncoon
with final inspection of a
device. The inspection unit is
to be a group of 18 devices.
The average number of
nonconformities per radio
has, in the past, been 0.5. The
two-sigma of the
appropriate control chart for
this size inspection unit is ---

—-— -
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Thex=barand| ¢je jeft 1:01:22
used to monit U Uy,

The following are calculated:

Jeaudl s

x-bar chart: CL=90 UCL=
102 (n=4)

Specifications are 8915

The value of the potential
process capability index is --

a. 0.667
P. None
E| c. 0.625
d. 0.583
e. 0.625

Clear myv choice
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The fraction nonconforming
control chart was
constructed (n=100). The
UCL and CL are calculated as
0.19 and 0.], respectively.
INEMo LCLISE e mm==-

0.01
-0.01
0.09

B None

Clear my choice
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